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B-F 100m

Rank | R RX&5EEX K& (%F) K&7U% + FRE B4
1 10.61 |FEE #E4E () by 4% K& &

2 10.71  |[#E RN (3) [h7h% 292 BhRT3E &

3 10.73  |[Ri ZEA Q) |37 Lot EIN:IES &

4 10.75  |FEBH £A (3) |E3/ Yab TT =S
5 10.80 [EAEH SEL ) |9=3v TR B E5F
6 10.81 [ HF =|AL () [31 4414 BH &

7 10.83 |&®IIl  EE 3) [5z49 by I\FH &

7 10.83 |TEHE &RF (3) |¥4b9 Ya9aq hEZRE 1Lz
9 10.84 |E®H & ) |3/ va9r it B
10 10.85 (RO &% (3) |99 F Fh K& &

10 10.85 (e L (2) |$4b) Y39 KET B
12 10.86 (HO WE @) |TrF IR FREGBR A
13 10.88 |&# #HX (3) |hA" Fagr ISR iz
14 10.89 [tk fBARER (D) |¥by vvhmg WEEZxE =804
14 10.89 |[E+E #HA Q) |[1h7Y 19b BET 1157
16 10.90 |KiE =t (2) |10 % F4% | =804
16 10.90  [%Eug 1&3) (3) |y 4+ a9b KRR 1157
16 10.90 |FEH E## (2) |A34Y tm¥ SEERE 1Lz
19 10.91 |E#E #HN () |3hny hurk WMFEEFR WA
19 10.91  [#@E 1BX () |Mr5 avs SEESE 1Lz
21 10.94 |E7 &£ 3) |y Ty B E5F
22 10.97  |[tk4<K &M (3) |¥4% tash AiiER 5F
23 11.01  |BEEH K% 2 |71 5477 B E5F
23 11.01  |[K&E BEKEA Q) |#4=Y Yaving & ML =804
23 1101 |fuL ##F (1) |7%rv 29% AXRERI B
26 11.04 |L£B F0iE (3) |yFr 12 % P EN =S
27 11.06 | & (2)  [M3h¥Y kR BT =¥
28 11.06 [E+E HFE Q) (44 7Y Y EBILIEE =S
29 11.07 |KEt Ei2 (3) |tthy +i¥ AER E5F
30 11.10  [RE® FEZN () 99571 Ya9/aF #mE A
30 11.10 |[BH = (3) |Ah" 4 HArK E%AH B
32 A1 (NER Rzn @) v’y +5/30 W& =804
32 M1 ek —& (2) |1F3° A% BT @
34 112 B =& () |5hny Y39 BT =804
35 1117 |#1L thEH () |AF ¥ 192 - ES @
36 11.22  |#L  & (3) |h34v by E74ze i) A
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Rank | B KX&FHk K& (FHF) K&7Uh 1 R4 B4
1 21. 51 Em =T (3) |¥4M Yann hEBEZE itz
2 21,72 |[BE FA 3 1923y 139%° RE [E R =F
3 21.81 |[=8 #FHAN (3) |40y huah HWFEEEFER (A
4 21.85 |[fRiE #FE4E 3) [1hy 1% K& &
5 21,92 (%eE &3 (3) |y ¥+ a9t KiRmpR 115
6 21.93  [{EBE BF (3) [#hy Yava' o ERRE iz
7 22.03 [®HE KA (3) |b7h3 2924 EINIES =
8 22.04 BH K 2) 7974 5 4aF BEE R 5F
9 22.05 |#EAK &} (3) [HF F 245 =¥
10 22.24 (g EE2A (D) (94 Va9/rk FAH FHE
1 22.26 HO wEE @ [F7r7ynr FAHEG R FE
12 22.29 |fERAK HERE (3)  [#Y+ todh AMIER =F
12 22.29 |8 RE 3 [y77¥ Var BHEE itz
14 22. 31 AN @K 3 [¥/9F V94 AR N E
15 22.33 B OEA (3) [E7/ Yagb T =mE
16 22.34 | B 3) |5=17 Ly J\Fg &
17 22.36 [8REB X (3) [hwA" Fady LAz R 115
18 22.39 EX {RE (2) |3% 17 EET 5F
19 22.40 (IR BEAY (3) |Th4° 7 Yavak FEFPR FE
20 22. M ME fEX 3 |75 1% SERSE itz
21 22.42  |d#m EHh 3 |Fnyy v FAHETE FE
22 22.55 INGFFEOE ) (#1737 W IKiR— =F
23 22.59 |[E¥ = 3 |3/ V397 i (=8
24 22.63 |Xi#E =Rt (2) |#Fh° % H4% 4&H =401
25 22.65 (A E3} 3 [7v7% 19 BX®RI BE
26 22.68 |EH A (3) [an 4 Hqzh E2A =EE
27 22. 71 HHE BN (3) |h¥% H4rr I\F &
28 22.72 | H R 3 |31 444 EHA &
28 22.72 BO $% (2 |#99°F 714 AR =
30 22. 81 L =& (3) |¥¥h" 4 74ER weE= =401
31 22.86 |{E@E BAKER (2 |¥b9 Yvimg WEEHR =
32 22.89 |XE #niE (3) |vF¥ 1274 A BE
32 22.89 |HE+E FER 3 (44 7Y VY B BE
34 22.99 WH R=F 3) |¥¥8 a9M BEHE =E
35 23.01 |&1E Bl 3) |50y Y39 HIIT =
36 23.04 [KP8 BEKBEH (3) |#4zYy Yavhny il& M =401
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Rank | B KX&FHk K& (FHF) K&7Uh 1 R4 B4
1 48.32 |HHE BEA 3) 197 4+ CIN-IES &
2 48.68 |EEF fiel Q) (b7 95w TEER =F
3 48.69 |iE &K 2) |3y 194 XL 115
4 48.73 W X# (3) Y97 Enh =iE =
5 49.15 KR #h4 3) #4497 Fa INERE =
6 49. 23 mil B (3) |7vh7 4t =iE =
7 49.24 |EEF i 3 (" M HEBXEF BE
8 49. 25 fHIE K= (2) [ 9v Iy WEEHR =401
9 49.36 |EER £k (3) |hwn 4 vk 245 =¥
10 49.40 |5kiE RERE 3) (1797 ¥ it =401
11 49.42  |de#k Hth 3 | ry v FHETE FE
12 49.53 BH —& (2) Y31 h2' o W& =
13 49.70 ®’ERE LE (3) |4 77 tnk LA (=8
14 49.75 |pKH ##k ) [TV yavy BhRITZE &
14 49.75 |BEF &I} (3) [5h%° 3 Lbub WEEHR =
16 49.83 |#HE Tt (3) [#p¥4 Vi =g =401
17 49.88 |HiR BEAY (3) |Th4° 7 Yavak FREFPR FE
18 49.93 | KA®R E#H (2 |THE 1+ I\F &
19 49.95 EH (5] (3) |EM 39 L4 =mE
20 49. 98 L & (3) |¥h° I A% KiRepg 11}
21 50.07 |[BA EB 3) |74% vaw LRz EE iz
22 50.10 S5 2 2) (v Yy EESRE 11}
23 50.12 |[\ME2 BE (3) |*h° % b4 BFHA =
24 50.27  |E# E20) (3) #9437 Hhw IIFAp itz
25 50. 31 HIR 1% 2 |55 19 245 EF
26 50.32 [EX #ERK 2) (v/7° Yamd KiRepg itz
27 50. 42 ki B (2) |¥by vavah A H FH
28 50.45 (A X (2) |51h o4 BXEI =EE
29 50.55 %M & (3) |hY¥Y B BE
30 50.58 [BHE 1K (3) [#by 19% Bk #E
31 50.68 [/ME E£XK 3) |y h1% I\F& &
32 50. 71 EH g (3) |E7% 9% il N E
33 50.77 |XKW B (3) |HH¥Y 3924 e FE
34 50.92 |#%E KRB (2 [p¥F vansmy TEER =F
35 50.94 fEaRR & (2) [#H+ Yoy —BEAIgE EF
36 50.96 |/MNER BE Q) |1h 177 VIR EET =F
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Rank | R RX&5EEX K£& (FF) K&7U% + = & B4
1 1:63.91 |{&# BEX (3) [#by vavh hEBZE iz
2 1:54.99 |hnfEk i 3) |[hby 743 XL itz
3 1:55.36 |#HK -2 (3) A% % htS kT iz
4 1:56.28 |FE HH (2) [h3%h ¥ B &F
5 1:56.51 |BA RE (3) [nvEb 593 AXREI BE
6 1:56.94 |&4 #N (3) |h%L3 19RF R =
7 1:57.00 |I#H K= (3) |hIn 4 BHHE E5F
8 1:57.25 |AF1 EBA 3) |97 4+ & =EE
9 1:57.27 |&@E #M2 (3) (744 234 WeEsExR =2
10 1:57.36 |k E (3) [#by 750 mIT =
11 1:567.56 |R#E FE 2) (Pub 9 79y IR BE
12 1:57.60 |&fE E# 1) 7o 4 )Y HAEIER =EE
13 1:567.62 |E%  #H (3) [543 B Lz iz
14 1:57.67 |&B W= (3) |743¥ 32 # FIAF =401
15 1:567.68 |FH 3t (3) |#% tmb it £ E5F
16 1:57.87 |hnf&k BX (1) |abw A FEAI =S
17 1:68.11 |FE #&#h (3) [78%7 vavy BmNE E5F
18 1:58.17 [;@E 4L () |75 4h7% Bt &F
18 1:58.17 |Ad & () [4h 19 hEBZE iz
20 1:58.20 |&5% 18 () |hv) 19 HEX2EE |BF
21 1:58.25 |&3!L e 2) |551% U9 L& H (=8
22 1:58.26 |T@& LA 3) (9 $un MET E
23 1:58.40 |/hM&EIR SE () |3 #h MR EE R BE
24 1:58.47 |ithE X @ | v I BHEKE itz
25 1:59.15 |BRE HF 3) [53h¥F N BFEEXR |fHE
26 1:59.47 |&E £E4% (2 |75 F e # MET HE
27 1:59.55 |EE& #HN (3) |75t 39k FAHEG R FH
28 1:59.62 |tk ZXBA () [¥b) 29509 pN:: FE
29 1:59.93 |&E#E Lt (2) [#4b9 9% it =804
30 2:00.84 |(pUEp =EZ#E Q) (7N 40 REERF®R (FE
31 2:03.76 |[#E &KX (3) [wvAh 394 I\F =
32 2:03.96 |Ei5 BR4E 3) W vzt INENE &
33 2:04.09 |Bf% Bt (2) |Aby Y2y I\F =
34 2:04.20 |HE KkiE (1 1550 14+ H&HFILE &
35 2:04.42 |HE B 2 1y o+ BFHR =
36 2:04.49 (55 #EE2 (3) |4h¥ Yagtdq BhRTH R &
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Rank | R RX&5EEX K£& (FF) K&7U% + = & B4
1 3:52.32 [#i=# 3 3) (AT LAb 2ERN B
2 3:52.59 |Afm = 3) |9/ 744 Al =S
3 3:55.34 |miE Lz (3) [#by EDa% Al BE
4 3:55.35 |/NEF K& () [t/ 19% it =
5 3:57.12 |#ErRK 2 (1) [#9% W BRfE— BF
6 3:57.28 |&H M (3) |74% 3% IR R=F:3 =
7 3:57.64 |k fLth (2) [#4b9 9% it B
8 3:57.78 |HE X# (1) |3v1 43b IR R=F:3 =804
9 3:57.84 |[tF# @FY 3) [y 4 Hqb BA B B
10 3:57.86 |IRE f&#H (2) |35 v 29xF i =
11 4:00.28 |T@E LA 3) (99 $uw MEI E
12 4:00.48 |XB =X (3) (737 Y14 MET FE
13 4:00.61 [XiA = (2) (#4330 % HiEXILTE iz
13 4:00.61 (O fEER Q) |479°F 199A9 RiERKILR 1Lz
15 4:00.68 |E® KE (3) |t ERJT B B
16 4:00.93 |F&E =3 (M [ b WLz 1A
17 4:01.04 |E48 * (3) |54y EhN LRz E iz
18 4:01.11 |thE\ 4L () |75 4h7% Bt &F
19 4:01.22 Ly HE () |r¥¥ £ 2 HEEKRPEEE |BF
20 4:01.53 |®RJIl HEH (2) [t449 Wty —B% Rk 5F
21 4:01.58 |#)Il FEE (2) |3vA7 b AR E5F
22 4:01.65 [EA KX#E () |99 5 4% —B%RkE &F
23 4:02.12 (85K -2 (3) A% % htS kT iz
24 4:02.13 |F&E =B (2) [75% b SEER iz
25 4:02.66 |(#HE 7 (3) [ah%4 huy B+ B
26 4:03.15 |EE HFE (2) [tha" a9 =& =S
27 4:03.42 |fkBE X (3) [#by Yads KEhT E
28 4:03.70 |FRHF %7 @) [ vty REERF®R (FE
29 4:04.10 |HE B 2) |59 vy EHWLMA &

30 4:04.23 |fEF #fEst (3) (#4437 29b FREGBR FE
31 4:06.02 |#ExE Mt (3) /% 5% Al E
32 4:06.80 |BFO —% @) |77 F hah INERE &

33 4:07.41 |[RE = () [n3y v BhRTE &

34 4:08.79 |/ME  HK (3) [t5 H4% NFERE &

35 4:09.06 |stuF R5FY 3) [M¥x vEY HFIIRET &

36 4:09.54 |8kE TEH (3) [#5 Fi% INERE &
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Rank | R RX&5EEX K£& (FF) K&7U% + = & B4
1 14:12.35 |ME B 2) |59 vy HHWLMA &
2 14:16.39 |E"-9- L7v¥ () |E"-5- AUu¥ WEEZE =804
3 14:34.05 (#5223 (3) |WH T L4b 2Ea 'S
4 14:34.61 [ZEE Kit () [y 447 mIT =
5 14:36.91 |X¥ &K (3) (737 Yah MET E
6 14:37.47 (WA &7 2) [y 3% ZEA =S
7 14:39.48 |KiB = (2)  |#£33 yn' % HiEXILTE iz
8 14:41.67 (kAR #%2 Q) (#7194 B+t =S
9 14:42.54 |Ihig =4 2) |32 9y Al B
10 14:43.91 |#BK & (3) |94 w4 EBR=R Lz
11 14:44.87 &£ =E (2) |73t b JEEE iz
12 14:45.26 | igfh (2) (V% Yavar LRz 1Lz
13 14:45.79 (JniO fREER  (3) |49 F amvay E¥:PNIIF iz
14 14:48.33 |[INE k4% (3) [t/ 19% it =
15 14:50. 74 (2777  H¥9 2) 3777y 1) HHWLMA &
16 14:55.36 |tkBE Bith (3) [#by Vi SEER Lz
17 14:55.80 (O —%& Q) |27 F pxh INERE &
18 14:57.56 |fE#E #iK (3) [#by Yadh pN:: FhE
19 14:57.78 |[INE B1E 3) |3 v = =i
20 14:58.46 R W% (1) (504 Y1y MET A
21 14:58.68 (&8 R ORIV MET E
22 14:59.41 |(WE BH () [yt 29n° INERE &
23 14:59.45 |8 E# (3) |V®8 T —B¥R E5F
24 14:59.76 (&t & 3) [¥9F W EHILA &
25 15:00.37 |tEH BP9 (3) vt 4 HMb BA B B
26 15:01.04 (FEA 5R™ 3) [n35 vF BARTR &
27 15:01.41 (#@E f#5 (3) [ah%4 huy” B+ B
28 15:02.32 [/ME  BARG (2) [t 5 14t —B% Rk 5F
29 15:04.96 |#EFH K5 3) ¥/ vty REERE®R (FE
30 15:05.25 |fk@E #LBE (2) |¥by vt IR R=F:3 =
31 15:06.54 |#4F #fE2} (3) [#447 b FREFRR E
32 15:09.18 (A MX ) [y B =S
33 15:09.19 (#)11  HEE (2) |3vA9 3¥b AR E5F
34 15:10.13 (k2K HRE (3) |4 72h HEX2EE |BF
35 15:12.29 |tkiE & (3) |¥by Y4 —B¥R E5F
36 15:15.26 (hUg &HEk () |Thyv sy = 5F
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B+ 110mH

Rank | R RX&5EEX K£& (FF) K&7U% + = & B4
1 14.90 |EF Eth (3) |th" 4 t1y B2 R =i
2 14.92 |KFE &A () [f14 47 b BH 5
3 14.95 |TEE X 3) (99 44 K& &

4 14.98 |k 2T (3) [#by vty SEER Lz
5 15.00 |#K =HRI& (3) (A" % vatm AR E5F
6 15.26 |RAEF EX 2 o+ 2954 B 5F
7 15.30 |#gn  H™ 2) (94 4 FREFRR E
8 15.31  |#&E W& ) [t x4 EZE A
9 15.33 |BAE & (2) [an° n2°% e=% =2
10 15.37  |/MEF FOA (1 |17 237+ LR =S
11 15.38 |ZBBE EX (2) |Abm Yans HHI &

11 15.38 |8 +18 (3) |3y ¥ 1%k HEmE A
11 15.38 &R #H—B8 (3) |754A 194Fmn hEBZE iz
14 15.42  |HR #E @ (7¥°97 997 HF A
15 15.48  |EEA  # (2) (4% 4v% FhE E
16 15.51 |kl FE () |¥M EF MY —B= 5F
16 15.51  [E& &M (3) |wvh" Yauar T B
18 15.52  |&HF Hbth 3) (174 7z = =S
19 15.54 |HiIE —5K (3) |M99% Hx°% PLEk =i
20 15.56  [ILA T\zx Q) [¥9F Yu/aF WwWe= =
21 15.57  |Fhus  ==# (3) |Fhy ¥ 9% PN &

22 15.58 | K# FEA (2) (544 4ub HiLZIREE  |EE
23 15.60 |#HE = (2) |¥Un7 *39a4 tLifgp R iz
24 15.64  |/MBR HHE @) |avry pv% =ARK &

25 15.67 |RJI &% () [#4H9 4hy Z2RR1 BF
26 15.71  |@ER B () |=vb7 29%h AX®EI =S
27 15.73  |[hil =E (1) |3AT Yagr JEEE iz
28 15.81 |EE8 &R (M) [t ) #BET 1Lz
29 15.88  |#E)Il f&RE (3) (7449 Mo +#0H E
30 16.00 |E#E X2 2) |5hny 444 BE R — 5F
31 16.02 (B #iE (1 |7y 9% TEER E5F
32 16.06 |#&#s i (3) |¥7°% tap T iz
32 16.06 |2 BEfE () [3%% H49y B B
34 16.08 |RMA 1 (3) [t4+4 440)7° BhRITE &

35 16.14  [FWL  Fost (3) |54v hA % AEITXE =2
36 16.20 |EXK BT (2) |5h% €429 48 =S
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B+ 400mH

Rank | R RX&5EEX K£& (FF) K&7U% + = & B4
1 52.59 WA XE (3)  [¥¥9F tnh =3 B
2 52.63 |HE ®EA (3) |97 b BARTR &

3 53.77 |EF Eh () |th" 4ty B2 R =i
4 53.87 [k#H #EX 3) |Th° 1 h% KRR Lz
5 54.22 |&# SEER 2) (77°7 v = =i
6 54.73 |/pRE EA () |3why eob Ref g FhE
7 55.17 |&#H #HBth 3) (474 7z =& B
8 55.26  |ERON EE () |39¥1m 4vr #FEAL 1Lz
9 55.33 [/ME E=X ) [y h14 I\F& =

10 55.57 |2H EF 3) (134 1v+ EER 5F
11 55.58 |HM@E  # (2) (575 4% FhE E
12 55.59 |{E<K BEE Q) [HF M1 ES =804
13 5.71 |BZ =X (3) A"y vavh hEBZE iz
14 55.78 |lWA Ak (3)  [¥vEb 50ty BhRIT &

15 55.90 |i=@E #iK (3) |Iyb'm 194 LWhEFHR B
16 55.97 |#K FE= (B VYSERELYY il &

17 56.01 |{&#k K# (3) |¥by 19% Ri& &

18 56.05 |JIX EA ) [p735 vagb RE R — 5F
19 56.18  |/hia  #R#R 3) [y yant SALB =i
20 56.20 | Kk X (3)  [fthE vih =R A
21 56.37 |fitiE H/IKE Q) 7Py Y aIM BB 5 B
22 56.44  |fIER & () |7a7 kb ¥ EEE &F
23 56.47 |B# XL (3) [#4by vtn EEHE B
24 56.51 |E1E 1REE 3) |y 4 RF =S
25 56.52 |8 K & (3) (A" # tat ES =2
26 56.53 & E ) |7me Yy AH =
27 56.63 |k FE () [#by EF WY —B= E5F
28 56.66 |RW EE (3) [f4H4 Eaw REZE &

29 56.67 |5 +#E (3)  |3yny ¥ av% HEE E
30 56.72 |F¥E XM (3) |Fn 44 IKiR— 5F
31 56.76 |4 EEF M) [ 4% vavk KRR iz
32 56.84 |fBH &KX 3) (7997 vavh B &F
33 56.85 [4cH K (3) |y Rk iz
34 57.07 |E# WE Q) MY s REERFER (FE
35 57.30 |¥EEE #H—EB (3 (75~ 19470 hEBZE iz
36 57.36 |%&#% IWHE ) [t x4 EZE A




FHOEE REBELEEEBEAS

SvRVYT
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Rank | R RX&5EEX K£& (FF) K&7U% + = & B4
1 8:52.74 LA LEVEQ) | MUt LEeEE®R =84
2 9:12.93 & HAREZ () [(n 2950 =25 ¥ =Pl =S
3 9:17.98 ¥R HM (3) |9Y % tth MEI E
4 9:24.26 |E=@E Kt () [y 447 mIT =
5 9:24.32 |J\ER =¥ () |YIh'Y +i* HEEXRPEEE |BF
6 9:24.52 |£H FED (2) (hHy Y29y IR R=F:3 =804
7 9:28.53 |miwmsk i () |y avtb E¥:PNIIF iz
8 9:32.70 |8#5K Ik (2) |Ax'# vt MEI FhE
9 9:33.54 | HIE 3) &M Yarw it B
10 9:34.03 |tkBE =i (3) [#by V£ B =S
11 9:34.11 |£@E BX (2) |9F% tth MEI E
12 9:34.18 |Hith HME (3) |#F 17 EEXFEE |BF
13 9:34.67 |H%E & () |38 F M BE= BF
14 9:35.12 | K% BA (2) [f1/ nwb hEZRE 1Lz
15 9:35.21 |4t WE (2) [thh3 Va9 tLifgp R iz
16 9:35.61 | =& (3)  [9F47 U39 48 =S
17 9:36.87 |F¥ £+t 3) |Fn Yavy FE BF
18 9:37.39 |Fih & () |#F 7Y KR 5F
19 9:38.13 |/hA #K (3) |5 1% INERE &
20 9:38.38 |&HIl =ik () |*vh7 a4 = 5F
21 9:39.16 |&u E3 3)  [7mT H4h £ Edt =804
22 9:40.75 |5Rfg B (2) |kthy £V =25 =Bl =S
23 9:41.14 |28 =# 3) |y %% FEILE E
24 9:41.40 |INR & (M [fn 37 et % L(11= et 3 =804
25 9:42.37 |4 &M 3) [M¥x vEY HEFIIRET &
26 9:402.41 |8 #Hz (3) [ tmat LWhEgE =S
27 9:42.85 [5ZE@ B 3) |14 vy JEE SR iz
28 9:44.85 (Wi A5 (3) 793y vy INERE &
29 9:46.07 |MxEH =& 3) |7y M1 XL iz
30 9:46.72 BRI EEAN (2) [YIRTAT Abb pN: A
31 9:49.79 /ML XK (3) |3¥v 715 LfsEE iz
32 9:50.24 k<K # Q) | pIT pN:: A
33 9:51.71 |R¥E BEXEE @) |Fun Yamiog =& B
34 9:52.33 |IlLE EiE (2)  |4v3F 9% NFERE &
35 9:56.70 |{LgE SRet (3)  [tun yasrk HHWLMA &
36 10:02.77 |TiE = 3) |99 vy I\F &
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Rank | BAL | K& (34) K&7 + A B4
1 21:21.68 [#&)I XiE () [3M VA7 Emd3 =k BB
2 | 21:26.38 /B HE Q) |37781 44y BEAX B E
3 | 21:28.01 |#@E ®E Q) |10 e EBEER Witz
4 | 21:29.40 |iFEE KE Q) |wb9 443 BET B E
5 21:55.38 |BF WK (3) 1973 Y9k FHILE &
6 | 22:38.53 |#EIL BEZER (2 [33¢7 UvAm9 AERE Wi
7 22:39.711 [#2EH EX 3) [y 194 L& H =
8 22:39.80 |FHE FEXBE Q) |33 294m wE— =
9 | 22:50.21 |K#%x HBE Q) |HE vy FIRF =803
10 | 22:52.83 |#E #ith (3 |[hon'F ¥ avy EES B E
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